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CHILD DEVELOPMENT AND PEDAGOGY

GluEE e 30 afarmdash o araren. yywmgg WarTasEns S el welss Gaisimiid,

There are 30 questions in all in this Part. All questions are compulsory.
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The attitude of a male child being gﬂacﬁma!e towards the mother than his father is
known as
A) Complex
B) Oedipus complex

C) Electra complex

D) Inferior compiex
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The psychologist who had the idea that children perform better as they grow older
A) JM.C. Cattell B) Alfred Binet
C) 8Sir Francis Galton D) Woodworth
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Teacher should use one of the following to draw the attention of children more quickly
A) Real objects

B) Colourful objects

C) Colourtul pictures

D) Moving objects
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The thinking of the scientists is an example for

A) Concrete Thinking B) Abstract Thinking

C) Creative ‘l‘ﬁinki? D) Reflective Thinking
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A)  ssalld Qaweing B) w®nil@msQrudund
C) el @éQeusumn® v @enewmd Glewsvun(®
One of the following should be given to students for social development

A) Academic activity B) Evaluation activity

C) Home activity D) Co-curricular activity
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A teacher asks students "what might be the questions if answeris'8 7" It is
A} Teaching for construclion of knowledge

B) Testing arithmetic knowledge

C) Teaching tor application of knowledge

D) Teacm'ng for examination

*Loveafl; ;m u,gw;nuu L afiuomsamb s g Ssner Bipdsein w‘_ .
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A Gloursivn (B ppbx ﬂﬂw1 B) ﬂ@ﬁwmwlfm ;ﬁﬂﬁml&

EHET ZHD et D) Wmﬂﬁﬁw
‘Man invented aeroplane after watching birds'. Which of the following is closely related
to the statement ?
A) Operant conditioning B) Negative transter of learning
C) Leamingtolearn  « D) Meta connition
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What is the expansion of C.C.E. ?
A) Continuous and Comprehensive Education
B) Continuous and Comprehensive Evaluation
C) Cognitive and Complex Evaluation
0) Cognitive and Constructivist Education
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One of the technigues followed by teachers to test the creativity of students
A) Brain-storming

B) Brain-forming

C) Brain-washing

D) Brain-drain

10, "@miuEed Pnjsupenp Gy pemssmsie apis walls Ganb %% "
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A) 1958, November 20 1959. November20
C) 1958, December 20 D) 1859, December 20

P Wk X
“Itis the prime duty of the human race to give the best to children” was propagated by
the UNO in the year

A) 1958, November 20 B) 1959, November 20

C) 1958, Decembar 20 D) 1959, December 20
% p,
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11, @dnf . um i L@BRenens spplidr ylivgBeow wpapeiot UHED KB esier
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Qurgienind s@dsin b B) Gam_dafardsiin b

C) Qungssg sdmaass b D) werasnguih

A map/chart formed by systemizing and relating the concepts learnt in a particular
portion of a lesson

A) Concept map B) Flow chart
C) Overlapping chart D) Mind map
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To help the students understand various concepts, the teacher explaining concepts
should

A) Start from unknown concepls to known concepls

B) Start from complex concepts to simple concepls

C) Teach at different times similar concepts that lead to confusion

D) Start from abstract concepts to concrete concepts b

il
¥

13. sHpgidE o sab o enih TGS Saresd (
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Bpantn D) =1 & pauh
The psychological factor helpful for learning is
A) Classroom climate B} Family
C) Skill D) Physical health

14, GEmensvssm & seal Lraais@L Qumnerals LTSS LG D af sivGaasi

A ETINTA T B) swAwiere
@ esmarme” =1 D) espBomuss
The satellite used for telecasting educational programme is
A) Apple B) Aryabhata
C) Insat—1 D) Chandrayan
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In the constructivist perspective, learning Is not related to
A) Connecting new ideas 1o the existing ideas

B) Constructing own knowledge by connecting new ideas 1o existing Ideas
C) Constructing own knowledge, with more emphasis on new ideas

D) Constructing own knowledge without connecting existing

S pengadr, QufCurisener djnm..rrrsg s Gﬁ:&nﬂaﬁ " 0 pésfioug,
Qaeven Qavsfin@sgith, ~ =1
A)  syfoimenin | @ Wﬂ‘wt TR
C)  sipins nsmriay ‘ D) Oarsemer Gladiub o emwiny
' 1
Asking number of questions and annoying the elders by children shows the
A) Ignorance ' B) Emotion of wonder
C) Emotion of confusion D) Emotion of annoyance

r‘
LU Gipdassat b thensrapsR aeniiMalenen sy ns urBlioat
| i

'_ GlunGomi B) @®ubL pui
C) mewwLii D) . fRwiser

Emotional development during childhood is more susceptible to the influence of
A)  Parenis B} Family members
C) Friends D) Teachers
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C) wangHmer D) srawemrmisa

Main role in moral development is
A) Atlitude B) Conscience
C) Mental ability D) Feelings

gaani geng Camarsarn, allgoudissr, sRTUMTULST o Ruadop FapsD apprs
Gamarsmin susnmaflsy Henne) Qeig Qurdasis Bosowdu goiblaerns g @yens
{Integrated personality) sreinmy s Huw e

A)  grseEad
C) amians

Integrated personality is described as unique adjustment of individual's interests,
expectation and opinions regarding his external worid and one's feelings about himsel!

A) John Dewey B) Erickson

C) Hurlock D) Gardner

FHCLng LsTalEssalden apath Glpp@gedr e w CasmB e supai
STIBMTLITTLI L 3 ‘ >

A}  mpEpgemen B) i fgmenen

C) .faEBnar s Gendpdsih

At present the society expects that school education may davelop

A) Thinking B) Generosity
C) Cognitive ability D) Moral values
Cenww el afd sigenTsl gL eng
yogib wl Fib B) wyosib dmich Smaapiicy
Gamupliy e Hih D) asriGuremap  Goc whonh Samypiy
Myaelin Sheath is made up of
A) Proteins anly B) Proteins and lipids
C) Lipids only D) Carbohydrates and lipids
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0-2 awwFsid B) 2-6aw@s
C) 6-12 mwBs D) 12-19 cwwsBsb
Physical growth in children is at the maximum rate at the age of
A) 0-2yrs. B) 2-6Gyrs.
C) 6-12yrs. D) 12-19yrs.
23. Scence sreirugelr Gl Limmer
upBidFwen L w B) 2 maunss
) FpRas D) amriERwen. w
4 The word Adaolescence means =
A) To develop B) Tocreate
C) To think (D)) Togrow \

24, QupBmmisenmsh seni 1 Nigds Garsmy v apsing'A' S
Accepl, Affectionate, Appreciate B) Accept, Adjusi R Tate
C) Accept, Adjust, Analyse D) Aeccept, Assist, Appreciate
Three 'A's to be followed by parents
A) Accept, Affectionate, Appreciate B) Accept, Adjust, Appreciate
C) Accept, Adjust, Analysg D) Accept, Assist, Appreciate

25. sy,  Quapmeon pank vRsy Surdmea $—  aleswTer

e Glar L pa s b,
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LppeaiSEs & QT fjent i toenGlagLp

) Sw B perear wanGlarpif

Love, envy and pity are categories of emotions.
A) Primary goal oriented emotions

B) Emotions triggered by sensory simulation

C) Emotions related to others

D) Emations pertaining to self appraisal
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The method which provides more opportunity for children to interact with peer groups
and teachers

A) Gurukula Kalvi Method
B) ;anturﬂ Hp';md
C) ’{g@nr Method
D) Astidhy Based Learning Method
27. weireh asbafuier apauib Freing efgoren PPt B psrsman aiartds Saism(Lh eer

spith S dens S
A) G?L.ﬂmhﬁ?aiﬁ'dm
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C) @wgrﬂg&mnhagﬂin&
D) yBw sded Qarirmns sfdems

The report which says “Four types of learning ability may be developed through schoo!
education”

A) Tellarce Report

B) Kothari Report

C) Radnhakrishnan Report

D) New Education Policy Report
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The Law of Effect is also called

A) The Law of Exercise B) The Law of Readiness

C) The Law of Assimilation D) The Law of Reward and Punishment
S Gippeng sralew TR Ag #fu ey panpiie: sseais Bni i e s‘m‘mi.i;rmi

EDDINGG TBEEIEF T (B
A)  dogsenensnuwrd Bidned s sal B sppa
C) s s -giewsiasusm. iy sHpe Buwrdnd -GQEm_i appsd

Opening a door by a child using proper process of unlocking is an vigh
type of learning ? v

A) Problem solving B) Insight learaing ™

C) S-R leamning D) Motor-chain leaming |

Biparayis asvall aflsnarorp) usisals Quusiu§ 2458 B psPa Prausdt
Quampsnzs 5 ? \d

A)  @ipRessnw wrpresssir / #HCuniisn se_gengener g, fud inmpBusniods
(Lpryupth e Bl

B} ﬁwgmﬂmnﬁiww:ﬁ@&u&-mgémmn%ﬁrﬁw'iw;ﬁﬁmmm&umqi

LYY ) M@?&mm@}é@ SarRiusDE apewr sysuinelsr Bneioew

AP mgdBet Gla meirer Gau st (Giuh

D) um drugBuneg AgRgul ugBasma i fdascu. CasnGio

whiﬂ! one of the following educational implications does not fit the ‘Operant

Conditioning' 7 ‘

A) The teacher can modify the behaviour of the learner by changing the m!.rilrunrmnt

B) The teacher can shape a desired behaviour by reward

C) Theteacher should consider the ability of the students before giving them problems

D) The subject matter should be divided into small segments
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There are 30 questions in all in this Part. All guestions are compulsory.

Pick out from the following sentences the exact opposite of “The street was crowded".

The streel was deserted

B) The street was packed

B1.

C) The sireet was so noisy

D) There are so many people moving in the street

B62. Pick oul the correct senlence,
A) | herd the noise made by the running heard

B) | herd a heard racing past in the vally
@ | heard the noise of the last approaching hard
D) | herd the pounding noise of the heard

63. Choose the correct expansion of the abbreviation ZS\.
A)  Zoo Summit International
B) Zion Sehool of Intelligence
C) Enalﬂgimi-sﬂciaty of Ireland
Zoological Survey of India

64. Choose the correct meaning of the word 'canner’.

A) A person who is very optimistic

A person who praserves things in containers for sale

C) A very rare bird
D) A person who uses sticks

0
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65. Which of the following sentences means "My Apologies" ?

A) lam glad to meet you | am very sorry
C) lamfine D) My sincere thanks to you

66. My favourite flower is rose

A) a iB]:}tha C) an D) this

B67. A verbwhich does not take an ohject is
Intransitive verb B) Adverb

C) Transitive verb D) Proverb
68. Ifl__ afish, | would swimn,

A) was B) am @mre D) have
69. He received blow blow.

Al on e for C) in D) of
P e e e
70. Be + mairjyerd + ing ioRmis tense.
A) Simple*s Ay 'tqgﬁ'ﬁbbus |
C) Past W oo D) Perfect

71. Which of the following sentences given below conveys the wiuwmg nwaning ?
“Sarojini Naidu was a renowned poetess”

A) Sarojini Naldu was an infamous poetess

B) Sarojini Naidu was a notorious poetess
Sarojini Naidu was a famous poetess

D) Sarojini Naidu was an ill-famed poetess

72.  Find out the animal(s) which make the sound 'squeak’.

C) Tapirs
D) All of the above animals

@ [ Turn ower
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73. The troops arrived at the crack of the dawn.
The above senlence means
A} The troops were slow
The troops arrived very aarly in the moming
C)] The troops arrived in the avening
D) The troops are deieated

74. Pick out the right spelling from the following.
A} monolitic
B} monalithic

@ monolithic

D) monolithik

75.  Which of the following options means "Dart, with heedful mind" 7. »f'\ m "
A) Move slowly with caraful mind % '
Make a sudden move but be very careful
C) Do not be careful in fushing out '
D) Make a careless sudden movement

76. Which of the following descriptions exactly defines an open letter ?
A) An envelope whieh is open
B) Letters of the alphabet which are closed at the top
C) A letter which is not kept sealed
A letter which is addressad to an individual, but can be read by everyone

77. Which of the following is the correct definition for a run on ?

A)) Two sentences put together without a full stop or a connecting word in between
them

B) A sentence wilth two main clauses
C) A sentence with two linkers
D) A sentence with a finite verb
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/8. Pick out the plural form of deer.
A) dears
dear

B)
@ deer

D) dears

79. How many syllables are there in the word ‘edification’' ?

80. Identify the figure of speech employed in the following line.
“Who loves the trees best 7" | said the Spring.
A)  Simile :
‘Persopfication”
C) | Metaphpr | ¥
D) Nljlarw ¥
81. Identify the sentence pattern.
Computer keeps children busy.

A) SVIODO B) SVOA
@ SVOC D) SVCA
82.  Which ameng the following is not associated with ‘Punctuation’ ?
A} Full stop B) Apostrophe
@ Conjunction D) Hyphen
83. Choose the correct word for phonetic transcription,
183: 1
A) goal B} glum

C) glow girl

@ [ Tumn over
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B4. Frame guestion for the following sentence.
| go 1o the market twice a week,
A) How long do you go to the market ?
B) How much da you go to the market ?
@ How often do you go to the market 7
D) How many do you go to the market ?

85. The mills of God grind slow sure.
A) and but C) that D)

B6. The number ol syllables in the word 'ecological’ is
A) Four B) Six

C) Three Five »

Fill in the blanks by choosing the right options given along
B87. Supply the suitable question tag.

Plants give out oxygenduringtheday 2 ;:’.- &

A) dothey 4) (@) dontihey |

C) didthey D) didn't they
B88. Supply a suitable suffix for the given word. i Bed S

Sheep 7

A) ity B) ness @ ish D) ism
89. Fillin the blank with suitable homophone.

The pelice controlled the g

Ay right @ dot BT

C) write D) rite
90, Supply the suitable relative pronoun.

| stayed with my grandmother cooking was the best in the world.

A) What B) Whom

C) Who Whose
D]
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uzs— IV
PART =1V

& mfl & 1D
MATHEMATICS

@ougFuis 30 aflewrdnd o doren. gyeneagay of srrdmenda i aflen_wishda Gasent b,

There are 30 guestions in all in this Part. All questions are compulsaory.

81.

93.

Bpdasim_aupnish Hapien D eE o

A) 1@ = 1.8 B) 18 @f=1a9

@ 1.6%=100 &8 D) 1000 Guei® = 140

Which of the following is wrong 7

A} 1emi=1mi B} 1 decim? =1/

C) 1mi=100/ D) 1000cm3=1/ \ B 4
iR olda 1Bas R s @peraf faih, susBedas e IOURy serender
Gl M i, o sirar afl HEws e

A) 100 S B) 1000

C) 10000 d @ 1

The difference between the predecessor of the smallest five digit number and the
successor of the largest four digit number is

A) 100 ~B) 1000

C) 10000 D) 1

i@igmasra i = +1+ 1412 (14 1+2)))

Rl ! S 4

o 5 o D) 2
Find the valug of 1+[14 121412 (1412 2)))

A) B)

m|n
|

C) D)y 2

N | =

[ Turn over
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1
94, Ja-1732 swaflsd B=

95. 07 : 15 ap.1s. almein 09 : 0345, 1. alp@eb o siver Gur Geor Glanaf

96,

5.196

A)
(c)) 0.543

! 1
If.,j'_a:L?BEthEﬂ;rE:

A) 5.196
) 0.543

A) 2in12 8
BY 1wnd8 H

(©) 131489

D) 141048

B) 1.732
D) 0.732

B) 1.732
D) 0.732

The time difference from 07 : 15a.m. o 09.: 03 p.m. is

Al 2h12m
B) 1h48m
C) 13h48m
D) 14h&&iﬁl

'S w1t erup P KpHFE Gamennh

A} 90°

c) 270°

The angle of rotation of the letter 'S'
A) 90¢
c) 270°

©)

B)
D) 360°

180°

B) 180°
D) 360°

(AET W
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97. e@ angrufgyenm 40 rswaiinelsi synaf s 42 B8, sty i i
erent uftansuryih Gt gmed il oy fs Sing sraieh yhs s P dufdream. S5,
A) 80 B) 75

©) e D) 84

mmmmmmmln'ammﬂm If the class teacher's weight is

mmdmmihawi&hmwHrmﬁwwightnfthemad'mrla- kg-
A) 80 B) 75
C) e3 D) 84
98. saflan’nullsh 8% an' iy ofssRe aasoraiy '
e gL,
A) 15 Cy 20
The principal t per annum SI ik
A) u@; : ‘ D) 10

9. samrmepmesr 7

A) @ﬁﬁﬂwﬂd&muﬂm L
B) @mapas &mﬁm@@ﬂ*%'ﬁ

@ Qo a ﬂ@%ﬂﬂﬁgﬂﬂ-@mmﬂ'ﬂ[ﬁ”
D) STE, rudyish SRR sranss @i o (5558 epen PR 1o erst

Wh éhwmngmamm?

- )  Sum of two natural numbers Is a nalural number
B) Product of two whole numbers is a whole number
C) Sum of two irrational numbers is an irrational numbar

D) Sum of a rational and an irrational numbers is an irrational numbar

o]

| Turn over
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100. 17% W1 QI FESap LD

3 2
'1_
4 B) 3

1 1

The square root of the number 1 15

Ay 1

3 2
A) 1; B) 15

1 1
— g [

C) 2 D) 13
101. 1,1,2,3.5, 8,13, 21,..ereim Clsm_Tcr 255 o D]
A) 29 B) 26

) 31 @ 34

The next term of the series 1, 1,2,8,5, 8,13, 21...

A) 29 B) 26

C) 31 D) 34

102. 6

37067 o1 cirstgenans: sal L (pQp auidsomgib ?

14 B) 21

ey 7 D) 28

What should be added to 67067 to make it as a perfect square ?
A) 14

C) 7

D) 28
(D]

B) 21
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2Gtwe
103.

L &8 & o siter s ida (pd Baaeensafien Giin MBI LT )
A) 12 Qo B) J3 G
C) 14 /3 G=a® @ 12./3 Qauf®

Wi
3

The tota) ahagl-iha equilateral triangles of the diagram is

A) 12%% B) Jazcm?
C) 14/3cm? , D) 12/3cm?

104. B85.2 imwub 45;&:}5@@:: Glansine saupfish arsismne 8171 19184 T 8.80 algit

. rmsn B) 33,600
C) T43,860 D) 227.660

The cost of painting a wall of length 85 m and breadth 45 m at the cost of
1 B.80 persg.m. is

A) 133,660 B) 33,800
C) 743,660 D) %27,860

@ [ Turri owvar
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105. 50 inmesonimed sit grned B GG Lier 45 s1amd semrd S L1 gr. (FeirenTA3 erenLig)

samisens 73 eren a1 digd GanararCio L g, Clalnas stafis il me s

A) 44 B) 441

@44.4 D) 445

The mean marks of 50 students was found to be 45, later on it was found a score of 43
was misread as 73 then the correct mean is

A) 44 B) 441

C) 444 D) 445

106, saisd T 12 afsh 6 g Parsenb, T 3.50 alsh 12 yresesene a1 s B ewr e,
mane_samnum 1 hT 200 GanBasne LU sursis Sausmy w Glprens

A) 2114 B) 798
786 D) 7102

Sankar bought six apples atthe rate of ¥ 12 and 12 orangesat the rate of 3,50, He
gave ¥ 200 to the shopkeeper then the balance he has o get is

A) T114 B) %98

C) 786 D) %102
107. 48 & snosnllsafisir ereiyanf den s

A) 12 B) 124 C) 48 @y 8

The number of factors of 48 is

A) 12 B) 124 C) 48 D) 8
108. w5 QsmBsnem 1piBarearg @b e Barenin§5” sraflst wmp Garswnb

A) 55° B) 100°

35° D) 45°

In a right angled triangle if one angle is 55° then the other angle is
A) 55° B) 100°
C) 35° D) 45°

o]
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109. upaedS pp svetumen e ot oflcir a Bpsb

Al 3 B) 30
55 D} 29

Sum of squares of first 5 whole numbers is

A) 31 B) 30

€) 55 D) 29

110. gpaev 10 Que sewsaflsy sgmaf

55 B) 45

C) 5 D) 65

The average of first 10 natural numbers is
A) 55 B) 45 .
C) 5 D) 65 T+ %%

111, gpewaul 15, 2012 ercinigy pnifipgyi Rypence ersshch iorid 15,2002 evcin gy

A) B - ‘ SRumpei
C) Qasiral :‘p& ol
January 1-%2“3 Sunday then Mareh 15, 2012 was

A) Mundw’ S B) Thursday
C) Fnday : D) Wednesday

112, s aﬂuﬁﬁﬁmmﬂil_ Bk 5.z Qnd eraxilsh sypeir L1&E syeray
‘:Eﬂ'arf B) 10 Glsef

5
€ 5 9 D) 10v2 Gwd

If the length of the diagonal of a square is §+/2 cm then the length of the side is

A) S5cm B) 10cm
5
C) Jzem D) 1042 cm

IEI [ Turnowver
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113, 1 Retraunsrswe i QI L1 T ST

A) 156 B) 187
C) 289 173

The prime number of the following is
A} 156 B) 187
C) 289 D) 173

114. 4 18 95 GQmf, 9 1f wHpnb 16 265058 yfw fartismar afluns sjeréss sgul

iR &0@ufw Bemb
A) 35Qun8 (B)) 45 G2
C) 55GQ«# D) 65 Glef

The greatest possible length which can be used to measure exactly the len th
95¢m, 9mand 16 m 65cm

A) 35cm B) 45cm
C) 55em D) E5cm

115. 1.75,586, 7 sy@ueupBcns Gumen.
A) 0.07 B) 07
C) 35 @ 0.35

H.C.F.0f 1.75,58, 7 is
A) 0.07 : B) 0.7
C) 35 D) 0.35

116. 7x5462 ereirp srevwr 9 gy, LEB Wl il augs L Biih evesfle x st enpHsLC F inSiy
A) 8 (8) 3
C) 9 D 7

The least value of x for which 7x5462 is exactly divisible by 9 is
A) 6 B) 3
C) 8 D)y 7



117. 72+824+562=
A) 812 B) 592
724824568 =
A) 612 B) 592

118, seafs Quangselsrsdaraiigs
A) ssppwnBsal

The emperor of Mathematicians
A) Sakuntala Devi B)

Ramanujar

116°
118,

X
mﬂ

g Bebx air i@y
A) 60° AN @115‘
é

N

The value of x In the diagram
A} 80° 8) 118°

120. ;+i=2ﬂmq¢x"+1_z=
L X
A) 14 B) 3

¥ 2 'Iz
IfH+x-ElhanH i-;i-
A}l 14 B) 3

o]

51

C) 572

@57?

B) @omoogmigd C) (Résragen

C) Pythagorus

C) s8°

C) s&5°

TNTET -1

D) 637

D) 632

@s.‘mﬁ:

D) Gauss

D) 130°

D) 130°

D) 1

D)1

[T orm i
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PART -V

@sphlere syfafiusd
EVS

@)% Baiist 30 aflswrdasih 2 sirarer. Syenengsl ol amins gy @ih elenweflds G Bib.
There are 30 questions in all in this Part. All questions are compulsory.

121, @B wreles B Cprbens m (BLh HIEHIESG ST SNQUSS Ol (eirer @) tb
A)  @plbenu B) Goemsnar
@ ysiBeall O l.r'r-.j,';ﬂ [ e D) Qarsisgsn

)

In India the time standard is provided by Atomic clock kept at = S
A} Mumbal B) Chennai _
C} New Delhi D} Kolkatta

122, iogiysmon auPpe apasBPG SBaGsmden & |
A)  sTHpSHD B) “#tppst
C) mAu g npsd | @ 2 Wi Mens GsraH
MNon-conventional sg&rugg a}r gnergies’ one example is
A) Windemergy.. ..~ B) Hydro power
C) Solar energy D) Bio-mass

1745
c) 17TH D) 1956
Henri Becquerel was born in the year
A} 1852 B) 1745
c) 179N D) 1866
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124, GumpdBe gamngand wpsiggnh 1iewsnn b aflipearssir sagenrh
A)  Cluigs ppemen giiallel Glamisist
Ry mpenen guiailsh Gioscusrs
C) wegemi puiale Guiugmsbd
D) mmby weim i uiels Gougma
A man who is sleeping in the bus sways his head to and fro because
A) the cerebrum is at rest
B} the cerebellum is at rest I'lf‘-@ @ o @
C) the medulia is at rest
D) the nervous syslem takes rest
125, meinsdfiiop e uilelr o 1Bip R mm i Susch D wis wpssiuGb, Lrgm 1y sefisi Bodgi
aannsaneus wen Gledinh Gler), Fpdacim aunmrsr sz o ;
ki \ ! .
This Is a naturally ocourring protein present in the salivary glands of Leeches that has
a bloog Amticoagulant proporty ~ %y
A) Guarfine B) Adenine C). Thymine’ D) Hirudin
V4 "' _'r|il v .
126. LB —— fenavwinens v (&) soenes
A) zmanh B) angdl . v C) sami Ben ey
L T— nf‘maaaﬂ-r s not stable. .
A} Core : B'j iﬁF& C) Mantie D) Crust
127. jlﬂ%ﬁﬁf‘;ﬂ.wﬁWﬂh—--—wmmwésm‘lj,ﬁﬁr.
| S o LD B) 1isGautiu toain _cuih
T'h ‘ wm&uu@ﬂ D) iy
Tamil Nadu has climate.

(o]

Trnpicai B} Temperate

C) Polas D)  Arclic

[ Tiare rone
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128. @3Bw yaluer inbHpih @ug.wod e genewat

A) 2umsTwLET B) @y wosgemaug gensuaui

@ @) LITH genevalT D) eérf@uwep FPUB
The head of the Indian Republic and Unlon is
A) Speaker B) Vice President
C) President D) Supreme Court Judge

128, dov gyerafeg ume ois GEBuT e wBei ———— Quiu pm_nag BapEpgl.

A)  Gowin_maug) B) mpsrugl

@ EILpTauE D) miomaug
india is the largest country in the world. - %
A) Second B) Fifth a%
C) Seventh D) Eighth

130. a@ts § geneveumd @ eisaliug G s HEHaNE
smfen penLnFaT :Bj ‘W"""‘M"’r
C) wrfsv syenodet D) syeniwdrgena senioded

The opposition party leaders will be given the status of a

A) Cabinat Minister B) Deputy Minister

C) Minister of State D) Council of Ministers
131, @uie ugisrT ——— a4 Qodpgart.

(8) GuomonaQan B) @i

C) Oumidszd D) sv@uuder

Ibn Batuta belongs to country.

A) Morocco B) Sudan

C) Portugal D) Spain

o]
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132, so & suias sraudBHe qperar 3y Gsnerius (@ ovdi o emr ey

A) sy wevsismh B) pengnrsd

@ Qg rsbmrinTuwih D) wmiQuigydiseuth
The Tamil literature originated before the Third Sangam was

A) Thandiyalangaram B) Nannool

C) Tholkappiam D) Yapperunkalam

133, @yfweiieh yBaaralish & rem @b aury
A) 1FiGaer @ enami’ eoeh
C) sytmmar D) sydelsmpen

A gas found most in the sun is
A) Methane . B) Hydrogen.
C) Organ ,f. D) Oxygen

134. GaenBudim ugm‘&ﬂnﬁﬂﬁm wnmmﬂﬂmmmmmm
(X)) wreiiea” LB

C) agSwn D) enwdsmun

The mountain which lie parallel to the direction of the Southwest Monsoon wind is

A) Aravali B) Satpura
C) Vindhya } D) Maikala range
135, @mﬂ @i, Beng ioppink aps B Surstpenar silpmm’ g6 arermes
uﬂ;m{gti:
B) Gey
Gsm_Lu D) whpLwdi
Tea, Coffea, Rubber, Pepper and Cashew are crops in Tamil Nadu,
A} Food B) Fibre
C) Plantation D) WNon-food

[T:ﬂ I Turn rivear
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136. &parmib snaniigast anglh Beniosgmen stsna ¢ flo s Glenss Flelsoey
1) @sund - 05 Cams0 Bef3gren
2) memdrs - Bt L6 5554 s aear o L TE GBS
3) egbyser - vy FurBumrBgrne
4 Glefdsel Slamgiiy - sapd FHpennser LrBdaln Fad
@ 2) b 4) b B) )3k
C) 1)ied)k D) 1)h2)k

137.

o]

Among the lollowing disadvantages of smoking which are not corractly matched 7

1)
2)
3)
4)
A)
C)

Qo dimd: smirdaaneott g fih éu‘ (pres

FTH P

A)  spenneiBaian Qams

Heart

Lungs

Bones

Digestive System
2)and 4)

1) and 4)

engen Gamn

Orthosclerosis

Bile stones in bile gladder
Ostaoporosis

Damage of alvech

B) uams;‘

D) Na

- 0.

<

s aptin b .18, Byt prai

~Among the following, which Is the carrier of the microorganism which causes dengue
fever ?

'A) Anopheles mosquito

B)
c)
D)

Aedes mosguito
Housefly
Culex mosquite
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138, adapdsiu L Rpderkia syiag sfu Hevsudds afiafib s o_sier af suiigssr
upfu uBesenars GarsinL LSsah Geang senypds UGB s
Frauciyo ysreftaileurl) |ggsh
B) afledigsafisi apsvngy
C) Apdewdisaiesr Gsrhoh
D) Guedssin oinper stsiaih B saa

The source book which keeps a record of all the endangered animals and plants is
A) Red Data Book

B) History of Animals

C) The Evolution of Species

D) MNone of the above

139, Bydaam_sudgprsh e1g) Lgrnids sy ydpst apsuih @siensy 2

Al @t B) @mﬂ}mw
o (B emesarih D) Pevdad '
Which of the-following is not a non-renewable resourca 7
A) Diesel ' ~_B) Natural Gas =
C) Cow Dung % WD) Coal

180, masig sienps i Qaraie G leE,ﬁnﬁn.- auDQIGT sTRDDIGE 8w 9
B) awiuew, Lmiieien

suapbausw, LD

L1 T, SanTTaL

Of the following which group has four-chambered heart ?
A) Mammals, Aves

B) Reptiles, Aves

C) Amphibians, Aves

D) Mammals, Reptiles

E] [ Turn over
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141.

142,

143.

s fi eraingl oy Gamnd GBs: eani ymer oppib Hhedger sggisar Hen

afl@gih
A) 11.19% inBmnn31.81%
11.19% inmmnn 88.81%

@ 88.81% 1hmnb11.19%

D) 33.81% inwonb11.18%

Pure water is a compound it contains hydrogen and oxygen at the mass ratio of

A) 11.19% and 31.81%
B) 11.19% and 88.81%
C) B881%and11.19%
D) 33.81%and 11.18%

< -s‘f
\S

ili!um mpgﬂaﬂﬂ’:_.!ruﬂﬂl o_givew g uﬁiﬂﬁmm

A) 330 g 92

C) 238 /D)) 148

42U in this isotope, the no. of neutrons is

A) 330 B) 82

C) 238 D) 146

20° C Ganiufenavddst $ils CuSO, —sir samafBmein

A) 36 Bomb B) 20.90 ®gmb
20.7 ®gmb D) 70.2 Rymp

Solubility of CuS0O, inH,0at20°C s

A) 36 grams B) 20.80 grams

C) 20.7 grams D} 70.2grams
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144, gQsuaifish myemifenp 16, apevdsnp Fenpa8 srafist smer Sygmis [ eren

:i B %

C) 1 D) egibGéea

Find the atomicity of ozone if its atomic mass is 16 and its molecular mass is 48.

A 3 B Y%
c) 1 D) MNone

145, rﬂlﬁriﬂa: m_ (5% Bere CousiBD b FanenigBens Gauad B Hihe srer QEm_iy

A) V=ro v=m

C) r=Vo D) m=V8

Relation between linear velocity and angular velocity is
Ay V=ro B) V=r»
C) r=Vea. D) w=Ve

)
148. E}#ﬁﬂ%ﬁkﬁﬁumﬂﬁﬂﬂwmwﬁuﬁLm
A) L‘i;’uwni-i-
sigmT ausben L (3 &
C) sner sypilimsh smi smew

ab EApTLIm] @ anGyagf

was called the 'lron Man of India',
A) Bismark
B) Sardar Vallabhabai Patel
C) Khan Abdul Gafar Khan
D) Dadhabai Naoroji

@ [ Turn over
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147,  Band uurenfl wysunsh sanm erap@u Lisresy jrsh

A)  amiep ilsch

C)) Pyse @,m 5H)

The Travel Book written by the Chinese Traveller Hieun-Tsang was

A)] Harsha Charitha
C) Si-Yu-Ki

148. pafer @EBwraiarafiyg 6aerd
Al suranps Freiva®
@ @irmegn pmih Guomse g

The Herald of New Age in India was
A) Dayananda Saraswati
C) Rajaram Mohan Rai

149, @iSw @t urensuier siens
A) alsbaSuuh O semmigmt 4

C) @asvGausivall Limy
The Father of Indian Railways is

A) William Bentinck
C) Lord Wellesly

150. GaPudurw supls wizrses’ Bup

e
Lk Eh SRS e Tggl

Al L sdisTsr Best
C) oalf@rpng g

B) Eempar

D) pgewmsued

B) Indica

D) Rathnavali

B) el e’

D)  msus s s

i,
B) Anni Besant s A

D) Syed AhamedKhen,

B) arzarifny ‘
D)) LsGamar® oy

B) Lord Curzon
D) Lord Dalhousie

D) GsGars@opng somi

The National Song 'Vande Matharam' was written by

A) Bala Gangadhara Thilagar
C) Rabindranath Tagore

B) Bankim Chandra Challerjee
D) Devendranath Tagore
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